
RESIN STORAGE
CABINET

ASSEMBLY INSTRUCTIONS

SKU: T-PS24-0590

https://www.patiowell.com/
pages/video-T-PS24-0590

Resin Garden House
Installation Tutorial

saleservice@patiowell.comwww.patiowell.com

Patiowell, 
Store 
Your 
Patio Well



02

FLOOR PARTS

A X1

WALL PARTS

G1 X4 G2 X1 G3 X1

G5-R X1

G4 X2

G5 X1 G3-L X1



03

C X1 C1 X1

ROOF PARTS

DOOR PARTS

M X2 M1 X2 M2 X1 M3 X1

D1-2 X4



D5 X4 D1-3 X2 B1-2-1 X1 D1-2-1 X1

C3 X8 C4 X1 C2 X5

ACCESSORIES

S1 X8 S2 X56 S3 X20

S7 X8

S4 X8

S5 X5

SCREW

ST5*30

ST5*40

S6 X4

M5*30

ST5*14 ST4*30 ST5*12

ST5*20

04



G3-L

G3-L

G3

G3

A

G3

S2

STEP 2

05

STEP 1

S2
4 pcs

Please note the 
direction by the“UP” 
of G3-L.

Note: G3L and G3 need to be 
installed securely, otherwise, 
the subsequent steps cannot 
be completed.

√ ×



G4

STEP 4

06

STEP 3

G1

G1



STEP 6

07

STEP 5

G1

G2G2

G1



STEP 8

08

STEP 7

G4

G1

G1



STEP 10

09

STEP 9

Please note the 
direction by the“UP” 
of G5-R.

G5-R

G5-R

G5

S2

S2
4 pcs

Note: G5 and G5-R need to be 
installed securely, otherwise, 
the subsequent steps cannot 
be completed.

√ ×

G1



C4

C2

G5

STEP 12

10

STEP 11

C

C1

S5

1 2

3 4

S5
5 pcs

Note: The protrusion of C2 
should face downwards.

Note: The screw holes of C1 
need to be aligned.

√ ×

G1



C

S4

STEP 14

11

STEP 13

C3

S4
8 pcs

S1
8 pcs

S1



S2

STEP 16

12

STEP 15

S2
20 pcs

S2
12 pcs

S2



M
M2

M1

D1-2

D1-2

M

13

STEP 17

Note: After installing M1, M2, and 
D1-2, measure to ensure the length 
is 1608mm and the width is 666mm. 
If the deviation is too large, it is 
recommended to press each part 
firmly into place before reinstalling.

Note: M1/M2 need to be installed securely with part 
M, otherwise, the subsequent steps cannot be 
completed.

√ ×

1608 m
m

666mm

M S2

S2
8 pcs

Note: The screw holes of M1/M2  
need to be aligned with D1-2.

STEP 18



M

M

M3

M1

D1-2

D1-2

STEP 19

√ ×

1608 m
m

666mm

Note: After installing M1, M2, and 
D1-2, measure to ensure the length 
is 1608mm and the width is 666mm. 
If the deviation is too large, it is 
recommended to press each part 
firmly into place before reinstalling.

Note: M1/M2 need to be installed securely with part 
M, otherwise, the subsequent steps cannot be 
completed.

M S2

STEP 20

14

S2
8 pcs

Note: The screw holes of M1/M3  
need to be aligned with D1-2.



D5

M3

STEP 22

15

STEP 21

M2 S6

D5

S3

S6

S3

D1-3 B1-2-1

S6
2 pcs

S3
6 pcs

S3
6 pcs

S6
2 pcs

S3

S1

D1-2-1
D1-3



M3

M2

S3

S3

STEP 24

16

STEP 23

S3
4 pcs

S3
4 pcs



S1

17

STEP 25

S7
8 pcs



CARE & SAFETY

• In case of fire, do not attempt to extinguish any burning polypropylene with water 
  Unsuitable for storage of flammable or corrosive substances.
• It is of utmost importance to assemble all of the parts according to the directions.
  Do not skip any step.
• Please consult your local authorities if any permits are required to erect shed.
• Periodically check shed to assure that it remains stable and that the site remains
  level.
• It is highly recommended to secure the shed to an immovable object or to the
  ground by drilling holes in the floor at the pre-marked locations and inserting 
  proper screws into the ground (size: 1.9’’-3’’ ,screws are not included).
• Wear safety-goggles and always follow the manufacturer’s instructions when
  using power tools.
• Wash shed with garden hose or a mild detergent solution. Using a stiff brush or
  abrasive cleaner could damage shed.
• Hot items such as recently used grills, blowtorches, etc. must not be stored in
  the shed.
• Heavy articles should not be leaned against the walls, as this may cause
  distortion.
• Keep roof clean of snow and leaves. Heavy amounts of snow on roof can
  damage the shed making it unsafe to enter.
• Although wind direction varies, it is an important factor when taking into account
  where to place your shed. Therefore, it is recommended to reduce wind
  exposure of the shed in general, and the door side in particular.
• Keep doors closed and locked to prevent wind damage.
• Do not stand on the roof.

18


